L*

L*,;=49,L: JrgDul standard IlultnessL*

L* nc=L*w - nc=100, n
/i
145
L* LAB.]NDul_In(Aln"'AZnY)/(AZnA’On)l (Yoc/2100<Y<=Y,)
L* Laonpu1=N(A 17+A2 )/ (Ag o)t (X=Y/Y,)
L* \(3.6)=320L* ,(18)=748 L*/W(QO)L1164

L*;=1163,74, /gn:q'seae, Azu=0,1044, ¢=1,00
L*1g747,51, A=01 )17, A,=0,0058 "

= _ A application
L*3v(,—328,76,L*u—/7/ 47,51 \@—18: s

b 1%,=1

XN=0,2 Xw=5

LABJINDul
tristimulus value difference

Yoc=L*w - nc=100,
L* Laganpu1 =IN(A1n+A2nY)(A2nAcn) - (Yao/100<Y<=Yyo)
L* Laganpu1 =IN(A1ntA20)/(A2iAon) - (X=Y1Yy)
dY=Agn(A1+AgnY)=Aon(A1+AzX), See CIE 230:2019
dYoq=0,35, Ay=0,6666, A,=0,1044, ¢=1,00
dY;g=0,08, A;=0,017, A4,=0,0058
dY3¢=0,02 Y,=18, dY=0,08 »

L* =748 dY, CLYU_/Y_U=_O,OO44//’/ ¢

log (AY/Y) LABJINDu1

_ tristimulus value sensitivity

SHEYY Yoc=L*w - nc=100,

L* Laganpu1 =IN(A1n+A2nY)(A2nAcn) - (Yao/100<Y<=Yyo)

L* Laganpur =IN(A1ntA20)/(A2iAon) - (x=Y7Yy)

AYIY=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY/Y}5=0,0039, A,,=0,6666, A,=0,1044, ¢=1,00
(dY/Y)5=0,0044, A=0,017, A,=0,0058
(dY/Y},=0,0970 Y, =18, dY=0,08

N, application
log(dY/Y}F-2,34 m;=-0,To> ~ _ .
L* ;=748 dY,=0,08 dY,/Y,=0, ooaa
|>QJ’:l

XxN=0,2 Xw=5

log (Y/AY) LABJNDul

tristimulus value contrast
C=(Y/AY) YoemL* wy =100
nc™ nc 4
L*Laganpu1 =IN(A1n+A2nY)(A2rAcn) - (Yao/100<Y<=Yyo)
L*Laganpur =IN(A1ntA20)/ (A2iAon) - (X=Y7Yy)
YIAY=Y/[A on(A1ntA2n V)X Y/ [Aon(A1n+AuX)]

L* =748 dY,=0,08 Y,/dY,=222
log(¥/dY)-2.34 m=0.13 - ~

(Y/dY}o=250,4F, Ay 20,6666, %—o 10442 00
(Y/dY)§=222,40, A,=0,017, AgntO o0sgREY Ca“(’"
(Y/dY) 142,55 Y,=18, dY=0,08

xN=0,2 I><W=5

LABJINDul relative standard lightnessL*/L* ,

LAL* YocmL*w - nc=100,
L* Laganpu1 =IN(A1n+A2nY)/(A2nAon)  (Yae/100<Y<=Yqo)
L* | AganDu1 =IN(A 10t A2 ) (AgiAon) - (X=YTYy)
L* \(3,6)=320L* ,(18)=748 L*,,(90)=1164
L*gg/L* (=155, Ay;=0,6666, /,~0,1044, ¢=1,00
L*1/L*=1,00, A =0,017, A4,=0,0058
L¥3 dL* =0,43,L%,=747 51 Y=18
L*/L* =1, m,=0,79

log(AY/AY,) LABJNDuL relative
AY/AY, tristimulus value difference
i Yoc=L*w - -nc=100,
L* Laganpu1 =IN(A1n+A2nY)/(A2nAon)  (Ya/100<Y<=Y,o)
L* | AganDu1 =IN(A 10t A2) (A2iAon) - (X=YTYy)
dY/dY =(A1ntAX)(A1+ALY)
dYoo/dY,=4,43, Ay=0,6666, A,=0,1044, ¢=1,00
dY,9/dY,=1,00, A,;=0,017, A,70,0088
dY; ¢dY,=0,31 Y,=18, dY=0,08 &
;.
L* =748 dY, 08 dY,/Y,=0, 0044 s
7

log [(AY/Y) I (AYIY)] LABJINDuL relative

tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

L* Laganpu1 =IN(A1n+A2nY)/(A2nAon)  (Ya/100<Y<=Yqo)
L1 aganDur =IN(A 10t A20) (A2iAon) - (X=YTYy)
(@Y/YY(AYIYV)=[(A 1+ A X)X (A 17 +A)

(dY/Yyo/(dY/Y)=0,88, Ay=0,6666, A,=0,1044, ¢=1,00
(dY/Y)g/(dY/Y}71.00, A=0,017, A,=0,0058
(dY/IY) f(dY/Y)=1,° Y,=18 dY=0,08

D

log[(dY/YY(dY/Y),]=0, m=-0,13 1 -
L* =748 dY,=0,08 dY,/Y,=0,0044 ?apr%'ca“"”
Iy =1
XN=0,2 Xw=5

log [(Y/AY) I (YIAY),] LABJNDuL relative
tistimulus value contrast

CICU=(YIAVYI(YIAY), v el I
L* Laganpu1 =IN(A1n+A2nY)/(A2nAon)  (Ya/100<Y<=Y,o)
L aganDu1 =IN(A 10t A20) (A2iAon) - (X=YTYy)
(YIAYY(Y/IAY)=[XI(A A X)(A 17+A L)
(YIdY)g/(Y/dY)=1,12, Ay=0,6666, A,=0,1044, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A,=0,017, A-=0,0058
(Y/dYY g(Y/dY)=0,64 Y, =18, dY=0,08
log[(Y/dY)(Y/dY);]=0, m=0,13

L* =748 dY,=0,08 Y,/d¥., =22~
v application
range

X, =1
XN=0,2 Xw=5




